=

K

St 5

@© A

@ €= 5000 92 TS

7

=
[

@ AFFHT 35kg w7

@ 3
®

3} 8°C

4] 350m

5]



@ 14 @ 2 3 371 @ 4 ® 571




AC

-4 -3 -2 -1

2

1

0

:—1.8

®cC

12



4. e[ el 5012 2550) Wepo] UmA] Yigt the shbe?

® -1 ]-10 @ -07 13 ® -19]-1
5 4 35
@ ]-; 6k



FAMS R[] g,
AL
B C A D
1 ———————"F——+——1+—
-5 0 5

@Al |D © B[ |C

© c[ ]A @ D[ |B

D >, >, > > @ <, <, >, > Q< > < >

@ <, <, <, >




3 et e ol ol Agatir}

®

DO | Qo

@ ® 4

SN V)



ol
w
ol
ofig
Nfo

ol

+7.1

@ (-4.3) 4 (-2.8)

-14

@ (+3.8) + (-2.4)






ojn

7h)

® C

: =3

@ B

1 =5

@ A

® E

@ D



@ -04 @0

® 0.3






12. thgolA 1 AT} o2 sl

@ 2Rt 47
® 0 Hrt2 o 22
_5 Ht} _3 ¢ Zre &~

@ -8Hrt6H &4

s
T
T @ Adizgto] 2 9l &=



3
Hm
< <
R ol
ny =
o| on
‘_.__mo 3
mo
o B
T ol
N
Xy
o N
= i
o =
ol
~ ol
)
H ﬂ ]
T o
woTE

13. o=

® -3 ® 5 @ 4 B 2

D -1



@ (+12) X (+5) = 60

@ (-2)x (=30) = 60

@ (-22) x (+4) = 88



15.

@ (-20) + (+10) © (~120) + (-15) + (+4)

©® (+40) + (-20) ® (4+20) + (=5) = (-2)

® (-4)+ (+1) ® (-8)+(-2) + (-2)
ORONG) @ ©,e ® 0,6

® ©, ® ® O, 6, o







17.

SR

Ao A 3 WA = Attsof she 227

—44928 = {(+3)—(-2)%} x 4
1 ! !
o O © @
D @ ® © 3 © @ @ 6 @




18.

a2 U7 o5 & S99 Yio|th o5 AHgotal 2
=2 dullrt?

T© 6/25 =

Io @ Autelz 60009 g

de (2) & FHE 7Yl 30009 AHE

o (3) B0l AT 10009 A4
O 1500 ¢ @ 17009 @ 1800¢

@ 20009 ® 3000



=-5 (-33)+B+8=11 4 W, A-BO| o2 &2

? 16 A 17 @ 18 G 19



20. Za, b, c o W5} a < b,

7129
D aieen

@ a2+b2+02>0

B B+3<0

b
>O’ o
C

c

Q]
=

ot

oo

@ bxc—axes0

@ (a-b)

X (b -

¢)<0

=
K<)

£7)

52,
rlo




21. oZ 5 Al 725 a, b, c o diote] E7 29

® ax(b-c)=axb-axc @ (axb)xc=ax(bxc)
® a-b=b-a @ axb=bxa

B at+b=b+ta



22. £AA 99 Y HA, B, C, D Atolo] A7t A4S o, B+ D 9
2L
A B C D
S ———— >
3 1
—17 12
1 1 1 1 1
5 @45 O O ® 3



1 1 11
23. 03+5-[ J+05+ s 2 [ Jorel rste 4=

1 13 17 19
ik ®1 @ — ® —
D E @) 15 15 15



w

24. ofE fegolA L & eleka D & wof oher] o 2 W ]
S 025 7} LSk HREA At 227

ot

1
® - @-@ ®‘B @-@ ® -2

o



544 a b “
PAS BETE ALE }0% UrEM Ao & A7

@ a-b<b<a<b-a
® b-a<b<a<a-b

® a<b<a-b<b-a

@ a-b<a<b<b-a

@ b-a<a<b<a-b



